1.2 Arithmetic Series

Arithmetic Series: The sum of the terms of an arithmentic sequence

Sequence: 3,7,11,15,19,...
Series: 3+7+11+15+19+ ..
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Investigate: Find the sum of 1+ 2 + 3 + 4+ +97+ 98 + 99 + 100
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Ex. Find the sum of the first 20 terms of 7 + 11+ 15+ .. /
a- 7 L, = ot ln-Dd  @s =20 (1+83)
d =4 = o+ [ow(q} 2 Lo s4 +ernac
A= 20 = 9+ b = 10 [ 40
= ¥3 _
= 900
In general, the sum of the first n terms is... a= first term
- N t. = last term
gh = _(0\ * L"‘\ n = number of terms
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d= -G 714 = 2100
= - 1S3

Note: we could also use the formula
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-Use if we know: n, a, d
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Ex. Find the sum of 7 + 14 + 21+ .. +266 () ¢ < 2¢ (—] +;66>
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no 7 dbe = 7+ An = e (273)
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d= = B = SlyF
35 = n
Ex.If a= -6, ta= 21 and Sin = 75, determine n. \
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Ex. Dominoes are displayed in an arithmetic sequence. The first row has 4 dominoes, the
last row has 106 dominoes, and there are 1925 dominoes in total. Find the number of rows
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Ex. A pile of bricks is arranged in rows. The number of bricks in each row forms the

arithmetic sequence 65, 59, 53, ... How many bricks are there if there are 9 rows? L \
a = bS @ LV\: 63—4(%’13(—@3 (D Sr\ = g_ (Q-l— ~
o =6 Lo=6S 4+ %(-0) - o (est\’ﬂ
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Ex. Determine the first term if d = -6, S,= 32, and n = 13 _ i\‘g [ (30 _]_(_ (oy (?>j
a="3 SV\ = n [Zm +(J(m~l\j - q.< [ (20 + (*‘-LY\_]
= -b “ B B
NENE 32 = (3 [[2a + o) (12)] - s (v2)
2 - 369
ST %% 27 = (5 (2a -2)
22 = |2a — Yo
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